Integral - Review for Final Exam February 15, 2016

o 5.7#55,57,59 separation of variables
e 6.5#9,11,39,40 work

Final Exam: Tues, 16 Feb, 9-11am
Can replace your 2nd lowest test grade!

If you are NOT taking AP Calculus Review Spring term, bring your textbook to the
final exam. There is a different textbook for Differential Equations.

At =0 a particle starts at rest and moves along a line in such a way that at time 7 its acceleration

is 241° feet per second per second. Through how many feet does the particle move during the first
2 seconds?
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The average value of Jx overthe interval 0< x <2 is
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What is the length of the arc of y =%x3 fromx=0tox=3?
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The area of the region enclosed by the graphs of y=x and y= X2 —3x+3 is
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If dﬂ = ysec’ x and y=5 whenx =0, theny =
X
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jsimmxax

Which of the following are antiderivatives of f(x)=sinxcosx?
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A force of 10 pounds 1s required to stretch a spring 4 inches beyond its natural length. Assuming
Hooke’s law applies, how much work 1s done in stretching the spring from its natural length to 6

inches beyond its natural length? -F' = K)(‘ ‘ o=k- 4\_ ko= £
A
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[(B) 45.0 inch-pounds Y = —
(C) 40.0 inch-pounds \’\]()&7 S z X d)(,
(D) 15.0 inch-pounds (0)
(E) 7.2 inch-pounds go
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3.7
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